p.209,210

(6{0] kgCo, L =< kgCO0,/¢
co kgCo, kWh > kgCO,/kWh
(6{0]
! ! C02
> /1,000
= x /1.1 - X X
Kith 2/Kith o/h < 4 kgC02/2 €02
0.7 ° 122 0.175 19.4 900 8 0.61 85,205 2.58 220
0.4 ° 64 0.175 10.2 900 8 0.61 44,798 2.58 116
0.7 ° 116 0.175 18.5 1,275 8 0.61 115,107 2.58 297
141 0.078 10.0 1,150 8 0.88 80,960 2.58 209
50 132 0.089 10.7 1,100 8 0.80 75,328 2.58 194
80 184 0.089 14.9 1,475 8 0.80 140,656 2.58 363
25 193 0.103 18.1 850 8 0.76 93,541 2.58 241
50 257 0.103 24.1 1,025 8 0.76 150,191 2.58 387
0.7 ° 122 0.175 19.4 300 8 0.61 28,402 2.58 73
50HP 37 0.595 20.0 200 8 0.76 24,320 2.58 63
200KVA 75 0.900 61.4 175 8 0.79 67,908 2.58 175
10 213 0.059 11.4 1,250 8 0.84 95,760 2.58 247
10 246 0.050 11.2 1,225 8 0.78 85,613 2.58 221
100 123 0.085 9.5 200 8 0.67 10,184 2.58 26
97kW 97 0.175 15.4 400 8 0.57 28,090 2.58 72
18.5 235.3 0.093 19.9 100 8 0.77 12,258 2.58 32
30 100 0.175 15.9 100 8 0.65 8,268 2.58 21
C02 2,957
)1: 1 25
25
2: 1 1
1.1
3: 11 143 1
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Co

1 Co,
> = > /1,000
Kih (kWh) (kgCO,/kWh) €0,
600tm 188 1,350 12 3,045,600 0.518 1,578
2.8 45 1,350 12 729,000 0.518 378
25Kih 25 25,700 12 7,710,000 0.518 3,994
3kWh 3 673,000 12 24,228,000 0.518 12,550
co’ 18,499
1 €O,
> = > /1,000
Kih (kWh) (kgCO,/kiWh) 1C0,
600tm 188 1,350 12 3,045,600 0.469 1,428
2.8 45 1,350 12 729,000 0.469 342
25Kih 25 25,700 12 7,710,000 0.469 3,616
3KkWh 3 673,000 12 24,228,000 0.469 11,363
co? 16,749
co, 2011 24
D
co kg kgC0,/kg
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co 1995
) )

) 0.00565 6) 7.44

() 0.00693 ) 0.689

(©) ) 1.782
(3.1) 0.1089 ) 1.804
(3.2) 0.1903 (10)

(O (10.1) 0.1030
4.1) 0.836 (10.2) 0.0414
4.2) 45 0.495 1) 4.40

12) 1.657
(4.3) 311.3
®)
5.1) 1.507
(5.2) 0.469
kgCO,/kg kgCoy/ °
o0
CO,
>
kgC0,/kg
3 kgCo
kg ) kgCOZ/ 3 ( g 2
570,000 0.00693 3,950
334,000 0.1903 63,560
44,000 311.3 13,697,200
519,000 1.507 782,133
7,355,000 0.469 3,449,495
350,000 7.44 2,604,000
5,800 0.689 3,996
368,000 1.782 655,776
40 1.804 72
109,000 0.1030 11,227
2,700 0.0414 112
80 4.40 352
21,000 1.657 34,797
4,700,000 2.073 9,743,100
320,000 0.836 267,520
€0, 31,317,290

)1: 8 kg

: kgCo,/ 3 kgC0,/kg
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()

111 2- HFC-134a kg
HFC-134a kg X
Co kgCo,
HFC-134a kg 1,300
HFC 3
18 10
HFC-134a HFC-134a co,
= > /1,000 >
kg ) ( ¢co,
PC 6,100 10 0.610 1,300 793
ACW 800 10 0.080 1,300 104
RC 8,600 10 0.860 1,300 1,118
CO, 2,015
co kg L x=<COo kg/@
CH kg CO
£ >=<CH, kg/e co
N,O kg CO
£ x=<N,0 kg/¢@ co
L km > 2 /km
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1/

79

)
9.33 10.3
1,999 6.57 7.15
2,000 4.96 5.25
999 9.32 11.9
1,000 1,999 6.19 7.34
2,000 3,999 4.58 4.94
4,000 5,999 3.79 3.96
6,000 7,999 3.38 3.53
8,000 9,999 3.09 3.23
10,000 11,999 2.89 3.02
12,000 16,999 2.62 2.74

18

66
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Co,

CO, CH, N,0
0.00136 0.0547
0.00408 0.0758
0.00257 0.0758
tCO/ke | 2.32 0.00350 0.0576
0.00565 0.0644
0.00231 0.0713
0.00565 0.0906
0.000350 0.0181
0.00112 0.0242
tCO/ke | 2.62 0.00117 0.0287
0.00131 0.0596
0.00109 0.0310
tC0,/8 | 3.00 0.00229 0.0923
tCO,/ke | 1.68 0.00128 0.0517
tco,/ *| 0.00600 0.00000458 0.000185
tCo,/ 3| 0.00236 - -
16 18
10
Co
CO, CO,
= x< / > /1,000
kg km/ km/€ 1 kgC0,/€ CO,
2,000 3,999 50 3,175 4.58 34,662 2.62 91
4,000 5,999 50 3,100 3.79 40,897 2.62 107
6,000 7,999 50 3,400 3.38 50,296 2.62 132
8,000 9,999 50 4,100 3.09 66,343 2.62 174
10,000 11,999 100 16,100 2.89 557,093 2.62 1,460
12,000 16,999 100 21,000 2.62 801,527 2.62 2,100
50 7,650 9.33 40,997 2.32 95
1,999 50 11,000 7.15 76,923 2.32 178
2,000kg 50 34,000 5.25 323,810 2.32 751
999 50 5,550 9.32 29,775 2.62 78
1,000 1,999 50 11,000 6.19 88,853 2.62 233
Co, 5,399
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Co

CH,
0, Co,
= x / > /1,000
kg km/ km/e e kgC0,/@ Co,
2,000 3,999 50 3,175 4.58 34,662 0.00117 0.041
4,000 5,999 50 3,100 3.79 40,897 0.00117 0.048
6,000 7,999 50 3,400 3.38 50,296 0.00117 0.059
8,000 9,999 50 4,100 3.09 66,343 0.00117 0.078
10,000 11,999 100 16,100 2.89 557,093 0.00117 0.652
12,000 16,999 100 21,000 2.62 801,527 0.00117 0.938
50 7,650 9.33 40,997 0.00231 0.095
1,999 50 11,000 7.15 76,923 0.00136 0.105
2,000kg 50 34,000 5.25 323,810 0.00136 0.440
999 50 5,550 9.32 29,775 0.00131 0.039
1,000 1,999 50 11,000 6.19 88,853 0.00131 0.116
CH, co, 3
10 co
N,0
e, co,
= x / = /1,000
kg km/ km/€ L kgCo,/€ co,
2,000 3,999 50 3,175 4.58 34,662 0.0287 1
4,000 5,999 50 3,100 3.79 40,897 0.0287 1
6,000 7,999 50 3,400 3.38 50,296 0.0287 1
8,000 9,999 50 4,100 3.09 66,343 0.0287 2
10,000 11,999 100 16,100 2.89 557,093 0.0287 16
12,000 16,999 100 21,000 2.62 801,527 0.0287 23
50 7,650 9.33 40,997 0.0713 3
1,999 50 11,000 7.15 76,923 0.0547 4
2,000kg 50 34,000 5.25 323,810 0.0547 18
999 50 5,550 9.32 29,775 0.0596 2
1,000 1,999 50 11,000 6.19 88,853 0.0596 5
N,0 Co, 76
€O, kgCO, t >=CO kgCoO,/t
CH, kgCH, t ><CH kgCH,/t
N,0 kgN,0 t
<N 0 kgN,0/t
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kgCo, CO
Co, kgCo, CH, kgCH, >21
N,0 kgN,0 >310
11 143
11
11
o, CH, CH, N,0
(kgC0,/t) (KgCH,/t) (KgCH,/t) (kgN,0/t)
[kgCO,/ 1 | [kgCO,/ 1 | [kgCO,/ 1
- 0.00095[0.02] - 0.0567[17.6]
2,550 - - 0.17 [52.7]
- - 136[2,856] 0.010 [ 3.1]
- - 151[3,171] 0.010 [ 3.1]
12
12
Co,
< > /1,000
(kg/ ( co, Co,
Co, 50 2,550 1 128 128
50 0.17 310 2.6
N20 20 0.010 310 0.062 3
40 0.010 310 0.12
20 136 21 57
CH, 184
40 151 21 127
Co, 315
2-6-3 p.203
24 22
17 6 13
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p.213,214

(€H)
co kgCO,/ C0,/
b /  >=CO0, CO,/ €0,/
co
CO,
ith 0.518 kgCO,/kWh Ot
[0.469 kgCO,/kWh]
Nm® 2.23 kgCO,/Nm® )2
)1: co, 2011
24
] CDM
2:
o
C0, Co,
>
Kih/ ( CO,/Klh)
1C0,/ 1C0,/
Nm°/ (__CO,/Nm) 2 2
kit 5,900,000 0.518 3,056
[0.469] [2,767] 3,859
; [ 3,570]
Nm 360,000 2.23 803
Co, Co, [ 1]
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()

HFC
kg/ kg >
HFC 3
18 10
4.5 20 2 20
4.5
HEC-134a HFC-134a co,
> >
/ (tC0,/
PC 6,100 4.5 1,300 357
ACW 800 4.5 1,300 47
RC 8,600 4.5 1,300 503
Co, 907
€O, kg =< (0, kg/e
CH kg CO £ >=CH, kg/e co
N,0 kg €O e x=N,0 kg/® co
e/
km/ > £ /km

TE/ =< km
£ /km
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km 4
10km
700km £ /km
p.214
p.215
15 366 =7 x2 15
119 119 246
TE/ TE/ >
TE/ >
TE/ 12
TE/ 365
co
co, C0,

x< / > /1,000

( / /0 e 0,/ co,
10,000 11,999 700 96 2.89 23,253 2.62 61
2,000 3,999 10 3,650 4.58 7,969 2.62 21
1,999 10 164,959 7.15 230,712 2.32 535
Co, 617

co
CH,
&, Co,

< / > /1,000

( / /2 e 0,/ co,
10,000 11,999 700 96 2.89 23,253 0.00117 0
2,000 3,999 10 3,650 4.58 7,969 0.00131 0
1,999 10 164,959 7.15 230,712 0.00136 0
CH, Co, 0
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Co

N,0
o, Co,
=< / > /1,000
( / /0 e Co,/e Co,
10,000 11,999 700 96 2.89 23,253 0.0287 1
2,000 3,999 10 3,650 4.58 7,969 0.0596 0
1,999 10 164,959 7.15 230,712 0.0547 13
N,0 C0, 14
(1)
2-6-5 p.207
3/
9
4
2
15
4
20 32 20 18
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18

23.8 28.6
0
-0 7.1
1
16.7 4.8
11.9 0.0
59.5 40.5
= >x /59.5 =<
3/ 3/ / 3 /
23.8 6.00 100 600
0.0 0.00 100 0
15 0.0 0.00 100 0
7.1 1.79 10 18
16.7 4.21 550 2,316
11.9 3.00 380 1,140
15 59.5 15.00 4,074
21
10 p.208
10
x<
? kg/ * kg/
200 0.169 203
0.054 65
268
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11

11
/
4,056 268 4,324
600 0 600
2,316 203 2,519
1,140 65 1,205
18 0 18
4,074 268 4,342
(2)
12
11
p.217
12
CO,
< > /1,000
(kg/ (tCO, (tCo,
Co, 7 2,550 1 17 17
CH, 1,578 0.00095 21 0 0
1,578 0.0567 310 28
N,0 28
7 0.17 310 0
Co, 45
365
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€y

18
13
14
13 Co o2
€0,/
DBH Dy
2 2 2 18 11 2
3 2 2 32 21 5
4 3 3 53 35 11
5 3 3 70 53 14
10 4 5 250 180 53
15 6 7 530 320 140
20 8 10 700 530 -
25 10 13 1100 700 -
30 12 16 1400 1100 -
40 16 21 2500 1800 -
50 20 25 3500 2500 -
)1:
2:
18
14 Co
COZ COZ
> /1,000
kgCO,/ tCO,/
5 180 13 2
3 11 2 0
CO, 2
)
860 2
15
3.5kgC0,/ 2
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Co kgCo,/

2 x co kgC0,/
860 2 =<3.5 kgC0/ 2
3 tCOo,/
15 Co
Co,
2.8 CO/ yr
3.2
3.7
3.2 Co,/ yr
3.2 3.5 C0,/ yr
3.6
3.7 CO/ yr
4.1
3.7
4.2
18
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